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AHBEERNRE SHAEE AN AR TR R 1omBETE
£ i1 g - RTE By #H = * £ wmE

EEIZE 968, 220, 210
=B (-10m) 968, 220, 210
ELHBRNET 104, 555, 880
BT 104, 555, 880
B 104, 555, 880
1-1 BEMIBA FRA - EH) REH~BEHEA. #A5~100ke/@ GRAHM) 26, 403. 00 1,443 38,099, 529

m3
1-2 BRMITEA GBLEMRIZA) A5~ 100ke/1& GRAA) . M.L.W. L. 10m~20mK & 26, 403. 00 2,517 66, 456, 351

m3
HBT 176, 492, 223
HBT 176, 492, 223
Bta 176, 492, 223
1-3 BEfMIRA (FRIA - EH) REH~BEHEA. #A5~100ke/@ GRAHM) 38.525. 00 1,317 50, 737, 425

m3
1-4 BEfH#E L ERIEAD HR5~100ke/ME (BEAH) . M.L.W. L. 10m~20mk s 4,671.00 6,163 28,787, 373

m3
1-5 BEft#iE L ERIEAQ #AB5~100ke/M@ GRA#T) . M.L.W. L. 10m~ 20m i 38, 525. 00 2,517 96, 967, 425

m3
BET 10, 996, 932
BET 10, 996, 932
Bhib S — MEE 8, 545, 560
1-6 BARb S — MEE 15, 685. 00 504 7,905, 240

m2
1-7 BHES S — &l ML &R~ 05 HEER 23.00 27, 840 640, 320

[=]




BHEENRE SHAEEILAMBES R R 10mFETE
& g g - AR B 2 B € # =
nngE 2,451,372
1-8 B5Fb o — MRS 66. 00 37,142 2,451,372
t
RAT [HARRR] 456, 940, 853
A% KAk T (1Z210) 144, 304, 278
FATHREI GEHEER) 85, 105, 543
1-9 %4THEHI (B L) @1,300mm  HERIKR=11.35m 30. 00 2, 706, 350 81, 190, 500
&
1-10 TRYVEER (B L) e T &l ~ B Fr 452.00 8,133 3,676,116
m3
1-11 LRSS 452. 00 148.1 66, 941
m3
1-12 TR ER (fE L) MEEim T~ R ES 452. 00 380.5 171, 986
m3
HHE Kk REER) 55, 093, 760
1-13 BHEH H300 x 300 x 10 x 15mm 1.00 212,952 212,952
%
1-14 BHERERE 31.00 50, 498 1,565, 438
m
1-15 SEREM ¢800mm  t=12mm  L=27.Om 1.00 45,900, 000 45,900, 000
%
1-16 $HERRATE 30. 00 3,869 116, 070
w- K
1-17 EXRER 30. 00 30, 547 916, 410
w- K
1-18 SABERMITHZ (4 TONnUT - $THE=11.35m 30.00 212,763 6,382, 890
)
&
FTEF R 4,104, 975
1-19 #FERPLT P-PE 525. 00 2,517 1,321,425
m




SHIEEARE SHAEELAMBEHERMRX)FECIMEETE
£ i R - kTR Bifiy £ B {H £ #
1-20 FENIEKMFAT 525.00 5,302 2,783, 550
m
S R AR T (TG {8IER {ER) 142,034, 247
SEATHREI (FRRIER{ER) 90, 267, 457
1-21 %ATHEHIGEL) @1,300mm  {EHIK=14.67m 24.00 3,580, 131 85,923, 144
P
1-22 TRYEER (B L) e T &l ~ B Fr 467.00 8,774 4,097, 458
m3
1-23 RS 467.00 148. 1 69, 162
m3
1-24 TRYEERE (L) MEmim T~ &S 467.00 380.5 1717, 693
m3
% &K AR (FEEIERHET) 51,766, 790
1-25 EHEH H300 x 300 x 10 x 15mm 1.00 128,078 128,078
=%
1-26 EH#HBEHE 20. 00 50, 498 1,009, 960
m
1-27 SEREME ¢800mm  t=15mm L=28. Om 1.00 43, 640, 000 43, 640, 000
=%
1-28 $H% K ARTTED 24.00 3,869 92, 856
QN
1-29 e RIRERR 24.00 25, 398 609, 552
QN
1-30 EXRMITH SN/ TJANT - B FTHK=146Tm 24.00 261, 931 6, 286, 344
FHET)
P
£ T (T {81 ER {4 &) 20, 135, 344
A& (FERIER AT ED) 7,853, 552
1-31 SHEMMH ¢800mm  t=10mm L=15. Om 1.00 6, 504, 000 6, 504, 000
=%
1-32 SAEMAE 12.00 2,221 26, 652
b




BHEERNRE SMAEREIL AN B SR TR R (10mEETE

£ i R - kTR B % B HE @ £ # =

1-33 SHEMEMR 12.00 7,900 94, 800
P

1-34 EMITRONM TANTT - [EE $THE=13.5m 12.00 40,614 487, 368

HET)

P

1-35 E#HME 1.00 496, 800 496, 800
=%

1-36 EHEAT 12.00 6, 751 81,012
&R

1-37 fEEav s —+F 18N-8-40BB 10. 00 16, 292 162, 920
m3

RS (T {81 B {4 &R) 1,934,312

1-38 $AERARUIMT t=15mm 85.00 5,703 484, 755
m

1-39 fEiEs 1.00 610, 877 610, 877
=%

1-40 REEHERfT 40. 00 20, 967 838, 680
m

4 4 ¥ (FRIERHER) 10, 347, 480

1-41 24 0w FERfT ¢ 70mm  L=33. Om 12.00 862, 290 10, 347, 480
4

fé1EE T (Fa B ER{50) 579, 291

25 50, 856

1-42 SHEMHBIHZEH BERR) 13.00 3,912 50, 856
m2

Eilg 2 301, 800

1-43 SsSB4 M S BERAR) 20. 00 15, 090 301, 800
m2

WA UBSIE 7,260

1-44 /A LHLE S — FEGER 4.00 1,815 7,260
m2




EHEERNRE

SHAEELAMBERRMR)FECIOMEETE

£ i R - kTR Bifiy B B {H & #

Kbarsy—+k 219, 375

1-45 BEREBRE 15.00 980 14, 700
m

1-46 EREEH ¢ 125mm X 3m 1.00 2,760 2,760
%

1-47 Keha o5 1) — FTER 30N-15-40BB W/C=50%LLF 9.00 22,435 201,915
m3

% KAk T (FABIERHER) 132, 524, 453

SEATHEEI (RAIERER) 89, 624, 039

1-48 S&ATHEHIGEL) @1,300mm  HEHIFK=15.56m 20. 00 4,274,194 85, 483, 880
&

1-49 TRYEER (B L) e T &l ~ R Fr 413.00 9, 496 3,921, 848
m3

1-50 TR 413.00 148.1 61,165
m3

1-51 TRYEEHE (L) MEEim T~ RES 413.00 380.5 157, 146
m3

% AR (BAIERER) 42,900, 414

1-52 BHEH H300 x 300 x 10 x 15mm 1.00 127, 306 127, 306
%

1-53 BHMHRERE 16. 00 50, 498 807, 968
m

1-54 SHE R ¢800mm  t=15mm L=28. Om 1.00 35, 980, 000 35, 980, 000
=

1-55 $AE RRATE 20. 00 3,869 77, 380

L5 S
1-56 SAEXRRER 20. 00 25, 398 507, 960
L5 S
1-57 HEXRRITH (N4 JANT - [FTHK=15.56m 20. 00 269, 990 5, 399, 800
FHET)

&

T (BEAIERATER) 16, 755, 544




BHEENRE SHAEEILAMBES R R 10mFETE
& g g - AR BT 2 i € #

#HE i GRIAIE{TER) 6,539, 196

1-58 SHEHMH ¢800mm  t=10mm L=15. Om 1.00 5, 420, 000 5, 420, 000
%

1-59 SHEMATE 10. 00 2,221 22,210
&

1-60 $HEMER 10. 00 7,900 79, 000
&

1-61 SABMITR (S TN - L $TERE=13.5m 10. 00 40, 614 406, 140

M)

&

1-62 E#HME 1.00 414,000 414,000
%

1-63 EHEAT 10. 00 6, 751 67,510
&R

1-64 gy —+ 18N-8-40BB 8.00 16, 292 130, 336
m3

& CGRIAIER &) 1,593, 448

1-65 $AE RARUIHT t=15mm 71.00 5,703 404,913
m

1-66 REEEF 1.00 475, 657 475, 657
%

1-67 RE#EH EfT 34.00 20, 967 712, 878
m

4 A ¥ (FAEIERTER) 8, 622, 900

1-68 & 4 O FERfT ¢ 70mm  L=33. Om 10. 00 862, 290 8, 622, 900
#H

SERNC LI 579, 291

215 50, 856

1-69 SH& 4R 2 55 B R R=) 13.00 3,912 50, 856
m2

EiIEe 301, 800




EHEERNRE

SHAEELAMBERRMR)FECIOMEETE

& g g - AR BT = € #
1-70 &% 29 4H ST 4 5 (B R AR =) 20. 00 15, 090 301, 800
m2
WA LA 7, 260
-1 WA WAL — FBGR 4.00 1,815 7,260
m2
Keharsyy—+pk 219, 375
1-72 BERERE 15. 00 980 14,700
m
1-73 BEEH ¢ 125mm X 3m 1.00 2,760 2,760
=®
1-74 Keha o5 | — RITER 30N-15-40BB  W/C=50%LLT 9.00 22,435 201,915
m3
R 5w THHER 28, 405
R 5w THHER 28, 405
1-75 R 5 v THIEA - Bk A 10km 1.00 28, 405 28, 405
=
EEHT 3,331,962
tEHaroy—+T 3, 331,962
E581] 498, 298
1-76 &k #HiN THASL SD345 D13 1.772.00 184 326, 048
kg
1-71 &% 53.00 3,250 172, 250
m
g 1,172,480
1-78 BB 4R 4A5 (FEHRK) 128.00 9,160 1,172,480
m2
BBt 17,150




SHIEEARE SHAEELAMBEHERMRX)FECIMEETE
& g g - AR B B = € #

1-79 {fEE #h BEEESR  t=10mm 7.00 2. 450 17,150
m2

avyly—+F 1,644,034

1-80 ERAZL RC-40 t=200mm 12.00 6, 935 83, 220
m3

1-81 & 10. 00 7,052 70, 520
m2

1-82 a9 )—+ 18N-8-40BB 6.00 18, 417 110, 502
m3

1-83 avy1)—riTE% 18N-8-40BB  W/C=60%A T 83.00 16, 624 1,379, 792
m3

=BT 215, 902, 360

HiER 2,343,188

EaRmHL 1,331,076

1-84 BEEHLD +20cm  M.L.W.L. 10mki& 42.00 6, 395 268, 590
m2

1-85 BREHLO +20cm  M.L.W.L.10m~15m=R i 134.00 7,929 1,062, 486
m2

% LR 1,012,112

1-86 [HHD S — FERER 272.00 3,721 1,012,112
m2

|AT 75, 595, 767

A (RES) 984, 937

1-87 #&iA RES. #A5~100ke/fE 5,625. 00 175.1 984, 937
m3

TRYEER 1,834,312

1-88 LHMEEE REH~EHHR 5, 625. 00 326. 1 1,834,312

m3




BHBEERNRE AMAEELAMBER R R E10mEETE
£ [ R - BKTiE BT B =2 & X

TEIA (FEHISAT) 4,038, 750

1-89 A BB, #A5~100ke/E 5, 625. 00 718 4,038, 750
m3

#ELY 13, 878, 000

1-90 #ELYRA (BAR) #E5~100ke/B M. L. W. L. 10m~20mskis 4,500. 00 3,084 13, 878, 000
m3

EIAL 49, 412, 224

1-91 BAHLOD #E5~100ke/ME. *£20cm [t EIES &R 294. 00 12,203 3,587, 682
m2

1-92 BAHLO #E5~100keg/ME. *+20cm KAPEIEEHER 40. 00 65, 044 2,601, 760
m2

1-93 JAH LB HA5~100kg/fE. +=20cm M.L.W.L. 10m5Kki& 928. 00 45, 480 42, 205, 440
m2

1-94 ZAL@ FE5~100ke/fE. +20cm M.L.W.L. 10~ 15msR3 18.00 56, 519 1,017, 342
m2

Wt LB IE# 5,447, 544

1-95 AR — FEIER 1, 464. 00 3,721 5, 447, 544
m2

BT EA#ER) 4, 405, 103

A (RES) 212,746

1-96 A REBS. HA5~100ke/{E 1,215.00 175. 1 212,746
m3

THEER 396, 211

1-97 TREER RES~EHBAH 1,215. 00 326. 1 396, 211
m3

A (BB IEA 872, 370

1-98 A FBHIBAT. #A5~100ke/{E 1,215.00 718 872,370

m3




EHEERNRE

SHAEELAMBERRMR)FECIOMEETE

£ i R - BARSHE BT H = £ % wm =

HELY 2,923,776

1-99 FEY A (EMA) #A5~100kg/M@ (FEAH) M. L. W.L. 10m~20mk i 972. 00 3,008 2,923, 776
m3

BETT (BB ILRY) 7,747,117

#ELY 7,747,117

1-100 HEERY A (ZHRBEAA) WX, M LWL 10m~20m* & 1,879. 00 4,123 7,747,117
m3

=E+T 82, 858, 108

A (RiES) 18, 563, 002

1-101 A RES. HSREL 125, 341. 00 148. 1 18,563, 002
m3

TR ERR 1,470, 252

1-102 £RE5E B 5~ FEHIHR 3, 864. 00 380.5 1,470, 252
m3

Hvy h1E 4,179,032

1-108 #Aw F1E BHISAT~ BT &R 3,091. 00 1,352 4,179,032
m3

TR ERR 46, 221, 998

1-104 £RE5E &5~ L& 121, 477.00 380.5 46, 221,998
m3

i 12, 423, 824

1-105 gL L—X) 100, 273. 00 123.9 12,423,824
m3

BB+ T () 15, 481,770

TEHI 4,004, 085

10




BHBEERNRE AMAEELAMBER R R E10mEETE
£ i R - Bdk~Hi Bifiy % 2 i & # wm =

1-106 #2AI HR+ 25, 950. 00 154.3 4,004, 085

m3
TREER 8, 462, 295
1-107 £RE5E L&~ RES 25, 950. 00 326. 1 8, 462, 295

m3
i 3,015, 390
1-108 i 25, 950. 00 116. 2 3,015, 390

m3
=W+ T(BEL) 21,471,307
A (RiES) 7,838,784
1-109 #&iA REH., BEHEEL (WEL) 52,929. 00 148. 1 7,838,784

m3
TREER 14, 386, 102
1-110 LHEEH RB15~ &R 52,929. 00 271.8 14, 386, 102

m3
i 5, 246, 421
1-111 L L—X) 42, 344. 00 123.9 5, 246, 421

m3
HEREE FEL) 89,011, 652
HEREE 89,011, 652
HERER 89,011, 652
ERE 13, 884, 934
B ES EEE R 13, 603, 593
1-112 S EEALERO 2a—54L—2100tF [FE] 1.00 1,878, 652 1,878, 652

%

11




EHEERNRE

SHAEELAMBERRMR)FECIOMEETE

£ i1 R - BARSHE BT % 2 i £ # wmE

1-113 S AEHESLERQ Ny RHILFEL 4m3Ix 65 [1EE] 1.00 2,230, 454 2,230, 454
%

1-114 S fEHESHEROQ ?@iﬁiﬁd’—)b’r—*f/ﬂ)ﬂﬁm ¢ 1,500mm#k (1 1.00 4,224,394 4224, 394
)| %

1-115 S fEHESHERG ?@iﬁiﬁd’—)b’r—*f/ﬂ)ﬂﬁm ¢ 1,500mm#k (1 1.00 4,224,394 4224, 394
)| %

1-116 5 fZHESLERG TILKE—H B0tk x 35 [FE] 1.00 1,045, 699 1,045, 699
=

REE M EE 281, 341

1-117 BA L IEE R A ~ BRI (EER) 1.00 144. 300 144. 300
%

1-118 {RE&HIEHK B HA10km (18 1.00 122, 606 122, 606
=®

1-119 BABLERT v h—&Efff HAZ48 (H-200) TR 10km (1R E%) 1.00 14, 435 14, 435
=

EFEKMILES 59, 928, 145

KEFAMLE 59, 928, 145

1-120 BAGLERE BEEXETE EHEIO— G300 H=12m- 720. 00 5. 000 3, 600, 000
L=660m, H=10m - L=60m .

1-121 BAM LIRS BHRAER) EEXBIE MBI 70—Fd300 H=3m 60. 00 15, 623 937, 380
m

1-122 BAKLEEER 1.00 38, 589, 582 38, 589, 582
=

1-123 &AL IEEHEA 1.00 14,131, 063 14,131, 063
=

1-124 BABLBERTEE (1) EEXETE 1.00 1,945, 800 1,945, 800
=

1-125 BAMBLERTERE (2) EE=R 5 1.00 324000 324000
=

1-126 BAMGLLIZERR 2, 880. 00 139 400, 320
m2

- 14,986, 107

12




BHEERNRE SMAEREIL AN B SR TR R (10mEETE
& # 1B - kT By 2 B ¢ #= R

Re R E 14, 986, 107
1-127 REEH/ROD FRP D260PSE! 5 E{F%rF mh3ESH 1.00 12, 668, 723 12,668, 723

=
1-128 REE|/MO FRP D260PSE! & E{FZH: FLZEI0H 1.00 2,317,384 2,317,384

=
KE - BEZREH 212, 466
KEFREH 24, 285
1-129 KERKREOD HAEX RSy FEM §H800t~1000t3E x 2& 1.00 10, 650 10, 650

Eao
1-130 AERBEEQ BT EMEAR]  300m3f x 2% 1.00 9,090 9,090

"
1-131 KERKRHEO Yy L—2ftEM 45~50tm 1.00 4,545 4, 545

Eao
BEREH 188, 181
1-132 SERKREOD FATIRH 1.00 150, 000 150, 000

=
1-133 BERBREOQ BWHBE 1.00 38, 181 38, 181

=%
EEZNEE 3,257,273
AlEERE 3,257,273
TILFE— LR 3,257,273
TILFE— LR 3,175, 273
=R 455, 799
-1 BB BEIAE. BITHE 1.00 306, 535 306, 535

£y
2-2 HHHERD BIAE @Sy 1.00 74, 632 74,632

=%




EHEERNRE

SHAEELAMBERRMR)FECIOMEETE

£ R g - BT B = i ® &8

2-3 WM ERQ ®IHE 2EE4Y 1.00 74,632 74,632

=
KiEA=E 1,268, 644
2-4 BETR O ETRE 1.00 588, 723 588, 723

=
2-5 BETR MO ®TRE 1.00 588, 723 588, 723

=
2-6 T IJLFE—LBAED EILA= 0.02 2,089, 996 41,799

km2
2-71 R ILFE—LBAEQ BIAE 0.02 2,469, 995 49, 399
km2

MR 1, 450, 830
2-8 ART—2EED ETRE 1.00 515, 850 515, 850

=
2-9 ART—2EEQ ®TRE 1.00 934, 980 934, 980

=
EEEE 82,000
MR 82,000
2-10 ¥BHRAE 1.00 82, 000 82, 000

=
B[R 234,131
RS 234,131
TILFE—LGAE 234,131
EEAGE 221,900
£ 227,900
3-1 3RFTERE T — 2 1ERL ETRE 1.00 2217, 900 227,900

=
ax

14




EHEERNRE

SHAEELAMBERRMR)FECIOMEETE
% i R - RKT & BifL % B i ® # wm =
EERE 6, 837
[p2 S 6, 837
-2 EHARE 1.00 6, 837 6, 837
=

15




BOHEERIER SHAEREL AN B TR R 10 EETE

2 o] B - kA B = i & # W OE
BEEIEE 968, 220, 210
MiEIE® 150, 385, 979 + 240, 835, 912 391, 221, 891
HEREE G 89,011,652 + 58,810,085 + 2,564, 242 150, 385, 979
£BRZE (BL) 89,011, 652
HBEREE (%) 1,028,148,355 x 5.72% (3.12% +2.00% +0.6%) 58, 810, 085
BaRERER 1,025, 696,983 x 0. 25Y% 2,564, 242
RSEEE 1,118,606, 189 x 21.53% (19.75% +1.78%) 240, 835,912
T=RfE 968, 220, 210 + 391, 221, 891 1,359, 442, 101
—REEES 1,359,442,101 x 9.36% (9.36% x 1.00) — 7,672 127,236, 108
R R 1,359, 442,101 x 0.04% 543,776
29597 -371, 985
T &t 1,359, 442,101 + 127,236,108 + 543,776 — 371,985 1, 486, 850, 000
EENEE 3,257,273
HRR 3,257,273 x 74.6% — 7,198 2,422,727
BEEEE 3,257,273 + 2,422,727 5, 680, 000
RIEE B 5, 680, 000
EZRE 227,900 + 6,837 234,731
EEAGE 227, 900




BOHEERIER SHAEREL AN B TR R 10 EETE

% fug B - BT & Bifr % 8 B Ol ® & =
EERE 6, 837
T DAt 227,900 x 53.85% ( 35% = (1 — 35%) ) 122,724
RERIE 234,737 + 122,724 357, 461
—REEEE 357,461 x 53.85% (35% + (1 — 35% ) ) — 9,953 182, 539
E ST 357,461 + 182,539 540, 000
B EH4% 1,486, 850,000 + 5,680,000 + 540, 000 1,493, 070, 000
HBREHELE 1,493,070,000 x 10.00% 149, 307, 000
HAIEE 1,642, 377,000




Rifiz -/ \v7r—o

BHAFEEILAMBEERBX)ZECIMEETE

&5 :1-1
£ BEMIEA FEA - B RES~TBEHGRT. #A5~100ke/{E GRAH) 1000m 34 Y
2 b g - BIRTE By = BHO(f ® % W = " =
yn—>A—4% 1.8~1.9m3
B 3.23 69, 076. 00 223,115/4.70H / 8H
TIL F—H GEH AR RE) 15tk
B 1.61 68, 875. 00 110, 888 5. 00H / 8H
BT 599 10tTE#&
B 19.40 56, 799. 00 1,101,900 5.90H / 8H
MR 2E0%
% 0.50 1, 435, 903. 00 7,179
& H 1E%8EH - 1,000.00m 3 1,443.00 1,443, 082
&5 :1-2
L BEMIEAGBLERIZA) HBE5~100kg/E GRAH) . ML W. L. 10m~20mk 1000m 34 Y
2 b g - BIRTE By = BHO(f ® W E " =
Bkt D 180PS%E! 3~5tH
B 0. 86 154, 647.00 132,996 8H
Ay b 957K 3.0m3
B 2.01 1, 133, 358. 00 2,278,049 /8. 00H / 10H
TIL F—H GEH AR RE) 15tk
B 1.37 68, 875. 00 94,358/5.00H / 8H
MR ELNOY
% 0.50 2,505, 403. 00 12,521
& B YEZERES - 1,000.00m 3 2,517.00 2,517,930
&5 :1-3
£ BEAMIEA GEA - B RES~BELIGRT. #A5~100ke/{E GRA#) 1000m 34y
2 b g - BIRTE By = BHoO(f ® % W = " =
yn—>A—4% 1.8~1.9m3
B 3.23 69, 076. 00 223,115/4.70H / 8H
TIL F—H GEH AR RE) 15tk
B 1.61 68, 875. 00 110, 888 5. 00H / 8H
BT 599 10tTE#&
B 17.20 56, 799. 00 976,942 /5.90H / 8H
MR EXENOY
% 0.50 1, 310, 945. 00 6, 554
& B YEZERES - 1,000.00m 3 1,317.00 1,317, 499




Rifiz -/ \v7r—o

BHAFEEILAMBEERBX)ZECIMEETE

=5:1-4
& BB EERIEAD #A5~100kg//E GEAF) . M. L.W. L. 10m~20mK i 1000m 34 Y
2 b g - BIRTE By o = B ) W = " =
#Aa 5~100kg/{&@
m3 1,250. 00 4, 800. 00 6, 000, 000
Bk D 180PS%E! 3~5tm
B 0.86 154, 647.00 132,996 8H
MR 2E0%
% 0.50 6, 132, 996. 00 30, 664
& B 1EZ%HEH : 1,000.00m 3 6, 163. 00 6, 163, 660
&5 :1-5
& BB LEERIEAQ HAS5~100kg/ME GREH#) . ML W. L. 10m~20mK & 1000m 34 Y
2 b g - BIRTE By H = B ) W E " =
Bk D 180PS%E! 3~5tm
B 0.86 154, 647.00 132,996 8H
AN ) 957K 3.0m3
B 2.01 1, 133, 358. 00 2,278,049 /8. 00H / 10H
TIL F—H GEH AR RE) 15t#k
B 1.37 68, 875. 00 94,358/5.00H / 8H
MR ELNOY
% 0.50 2,505, 403. 00 12,521
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BIEFEHEM
A 1.00 45, 700. 00 45, 700
RIS HRER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 1.00 30, 700. 00 30, 700
BEBF
A 0.50 29, 600. 00 14, 800
GNSS;BIfI & DGNSS
B 1.00 18, 150. 00 18, 150
TILFE—LBERZEE 36~455kHz
B 1.00 331, 650. 00 331, 650
MR 2E0%
% 2.00 532, 745. 00 10, 654
& B EEREN :0.22km 2 2,469, 995. 00 543, 399
&5 :2-8
W AET—4EED EIE 1LY
2 b g - BIRTE By = B Ol ® W E " =
BIEFEHEM
A 3.10 45, 700. 00 141, 670
RIS HRER
A 4.10 40, 000. 00 164, 000
Bl S H A
A 6. 20 30, 700. 00 190, 340
MR 2E0%
% 4.00 496, 010. 00 19, 840
& B 1E%HeH - 1.00K 515, 850. 00 515, 850
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Rifiz -/ \v7r—o

BHAFEEILAMBEERBX)ZECIMEETE

&5 :2-9
W ARET—ARIEQ RBRIAE 1LY
2 b g - BIRTE By = B O ® # " =
BIEFEHEM
A 4.10 45, 700. 00 187, 370
RIS HRER
A 10. 50 40, 000. 00 420, 000
Bl S H A
A 9.50 30, 700. 00 291, 650
MR 2E0%
% 4.00 899, 020. 00 35, 960
& B 1YE%HeH - 1.00K 934, 980. 00 934, 980
&5 :2-10
2% EBHRRE 1LY
2 b g - BIRTE By = B O ® # " =
EBHRERERE
= 1.00 82, 000. 00 82,000
& Hi 1E%HeH - 1.00K 82, 000. 00 82,000
&5 : 3-1
£ SRTF/EIT—HER EIRI=E s EP
2 b g - BIRTE By = B O ® # " =
F{EHRAR (F%ET)
A 1.00 57, 400. 00 57, 400
AR (A)
A 1.50 51, 200. 00 76, 800
e (B)
A 1.50 40, 600. 00 60, 900
AR (C)
A 1.00 32, 800. 00 32, 800
& Hi 1E%HEDN 1. 005EER 227, 900. 00 227,900
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REAR-ET/Avr—> SFAEEILAM BRI ) B (- 10m)EE T E

&S 32
&% EHARE
£ 5 L - BIRTiE BAf % = B & % = & &
EHXARE
= 1.00 6, 837. 00 6, 837
& Hi 1YE%HeRH 1,00 6, 837. 00 6, 837
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